

Homework:
#6/ y=
$$\frac{1}{2}x^{2}+3x+2$$

 $J=\frac{1}{2}(x^{2}+6x+9)+2-9$
 $J=\frac{1}{2}(x+3)^{2}-\frac{9}{2}$



Determining Quadratic Functions From Parabolas

 In order to determine the equation of a quadratic, you need to know...

(1) the vertex and another point on the parabola

or

(2) any three points on the parabola

S.F. = 12 = 3

ex: Determine the equation of the parabola having its vertex at (3, -5) and passing through the point (5, -17) $y=-3(x-3)^{-5}$

- STEPS:
- Build the standard form of the equation using the known vertex.
- (2) Let "a" represent the unknown stretch factor.
- (3) Substitute the known point into the equation and solve for "a".
- (4) Replace "a" value in the standard form equation.

 $y = a(x-h)^{2} + K$ $-17 = a(5-3)^{2} - 5$ -17 = 4a - 5 -12 = 4a -3 = a $x = -3(x-3)^{2} - 5$



EXAMPLES: Determine the equation for each...



Example 4:

Determine the equation of the parabola that passes through the ordered pairs (-1,6), (0,1) and (2,3).

 $\mathcal{Y}=a(k-h)^2+K$

y=aztbx+c

Worksheet - DeMoivres Theorem.doc